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General Instructions:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 18 questions in the
Question papers. All questions are compulsory.

2. Section A —From questions 1 to 8 are MCQs of 1 mark each.

3. Section B — Question no. 9 to 12 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

4. Section C contains Q.13 to Q.14 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words.

5. Section D — Question no. 15 is long answer type questions, carrying 5 marks each.

Answer to each question should not exceed 120 words.

6. Section-E - Questions no from 16 to 17 are case based questions with two sub questions
and are of 4 marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 18 is map based, carrying 5 marks with two parts, 18 a from History (2 marks)
and 18b from Geography (3 marks)

we-u/SECTION A MCQs (8x1 mark each=8)
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1-Under the sustainable development goals, social equality with regards to access to

resources are one of the most pressing challenges. Accordingly, which of the following crises is related to
the statement above?

A. damage to infrastructure due to floods

B. scarcity of clean water for consumption

C. damage to crops caused by heavy rains

D. combating water borne diseases in rural India
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2-'India’s green energy goals have a serious problem — the Great Indian Bustard ‘A Wildlife Institute of
India (WII) survey covering 80 km of power lines across the Thar desert found 4 bustard (critically
endangered species) deaths during a single year due to high-transmission wires, including some connected to
wind turbines. (Source: The Print)

Should the installation of such power lines be reconsidered in areas where such species are found?

A-Yes, the goal of protecting biodiversity is the only goal which should be prioritised.

B-Yes, alternative methods of power generation should be explored to minimise this risk.

C- No, the benefits of power lines outweigh the negative impact on the species.

D- No, the species is not yet extinct and currently no action needs to be taken.
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3-Ankur, a resident from Rajasthan, decided to install a submersible water pump in his house, capable of
extracting groundwater from depths of 250-300 m. This practice of install in similar pumps is becoming
increasingly popular across the state.

Which of the following will this growing practice MOST LIKELY lead to in the near future?

A-decline in the groundwater quality

B- reduced monsoon water resources

C- increased number of waterborne diseases

D - water scarcity resulting from excessive utilization
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4-In an Indian state, communities X and Y have been engaged in a long-standing conflict over issues of co-
existence and resource sharing. The tensions have intensified, leading to a demand from both communities
for self-administration. What is the BEST resolution to this conflict?

A- collapsing the present government due to its inefficiency in governing the state

B- delaying the demands of self-administration and maintaining the current power structure

C- imposing strict regulations to control the movements and interactions of both communities

D- establishing a power-sharing arrangement where both communities have a role in decision-making
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5-“Everything would come to an end if the legislative, executive and judicial powers of government were to
be exercised by the same person or authority.” - Montesquieu

Which of the following is the BEST explanation of this quote?

A. All work in a country will stop in the absence of power-sharing.

B. Separation of powers is needed to strengthen democracy.

C. Governments can only function if powers are distributed.

D. People cannot exist in a nation if powers are not divided.
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6-Which of the following is an example of the dependency of the primary sector on the tertiary sector?

A. Weavers made less money because the shops did not want to sell hand loom products.

B. The bank employees could not reach on time due to a transportation strike.

C. Dairy and poultry producers suffered a loss when the shops went on strike.

D- Farmers suffered a loss when there was not enough water to grow cotton.
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8-Which of the following gives the CORRECT explanation of Gross Domestic Product?
A. The value of final goods and services is added for secondary and tertiary sectors for one year.
B. The value of every good and service is added up to for all the three sectors for one year.
C. The value of final goods and services is added up for all the three sectors for one year.
D. The value of goods is added for the primary sector for one year.
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8-The message of this ABOVE comic can be best summarised as
A. 'we should take from the rich and give to the poor'

B. 'resources must be distributed equally amongst all’
C. 'providing equality of opportunity to all is always a good thing'
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D. 'those who are the most disadvantaged should ideally get the most help’
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The following question is for Visually Impaired Students ONLY in lieu of Question 8
There are two statements given below, marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option.

Assertion(A): Resource planning is a complex process.

Reason(R): Resource planning helps in effective and judicious use of resources.

A. Alis true but R is false

B. Ais false but R is true.

C. Both A and R are true and R explains A.

D. Both A and R are true but R does not explain A.

e+t /SECTION-B(VSA )-2 MARKS
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9- Write a SHORT note on Guiseppe Mazzini.
10- e mfafeafRen 3 aeafaat s St i et s Fa gt o 2?2
10- How have human activities affected the depletion of flora and fauna?
11 -9 o U TR % #ff TS o UTHIOT &1 T ST Ll & ST ATl AT bl Toh SIS Y HIH H ohrH hid ¢ ITd ol T H &1 § ST AT 6l 1
T T STTITIHAT T & TR 3T < ol T § IeATGH T RIS ST Te| TS| TTE0T &1 H STCUISHTI ol 36 AT HT THTE Shel fohalT ST Hehal
3?
11- (A); Mr. Y from a city in India visits a rural area and finds five people working in a small agricultural
farm. More than two people are not required to work in the farm and removing the other three will not affect
production. How can one solve this problem of underemployment in rural areas?
12- e | forehsfiertor a1 qeg ot foram Siram 87 i a1 SR ford |
12- Why is decentralisation favoured in democracy? ldentify any two reasons.

we-Ht /'SECTION-C(Short Answer Type Questions)-3 MARKS
13- Treie uFe & I H SATshieT I or?
13-Why Indians were outraged by the Rowlatt Act.
or

Tiefisft T SR TSI a9 o 3 fota = form?
Why Gandhiji decided to withdraw the Non-Cooperation Movement.
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14-'A drought-induced water shortage can have far-reaching consequences, affecting agricultural
productivity, the availability of food resources, industrial activities, and livelihoods, thereby significantly
impacting human well-being.'
14-i) What does the above statement represent about the relationship between different resources? (2)
14-ii) How does such a situation represent lack of resource planning? (1)

ge-gt/SECTION-D(long answer type questions)-5 MARKS
PYQOF.COM DOWNLOAD PREVIOUS YEAR QUESTION PAPER FROM PYQOF.COM [Type here]



PYQOF.COM DOWNLOAD FROM PYQOF.COM PYQOF.COM
15-fa 3 "SR’ o forg T e @ist ot S e o 80% st # wieed off, Steifer ‘Trarere’ i @it # 7o 9 ¥ Y fowrs Q) == w T
e WIS T ST SROnSt 37 AW 3 A e w1 8 g 8] SeTetT |fed aueney

15-Shruti performed a web search for ‘Teacher’ and found that 80% of the images had women, while a
search for ‘Pilot” mainly showed men. Discuss how these web search results reflect societal perceptions and
the sexual division of labour. Explain with an example.

we-3 /SECTION-E(case based questions)-8 MARKS
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16-Read the following passage and answer the questions:

What we know today as Germany, Italy and Switzerland were divided into kingdoms, duchies and cantons
whose rulers had their autonomous territories. Eastern and Central Europe were under autocratic monarchies
within the territories of which lived diverse peoples. They did not see themselves as sharing a collective
identity or a common culture. Often, they even spoke different languages and belonged to different ethnic
groups.

The Habsburg Empire that ruled over Austria-Hungary, for example, was a patchwork of many different
regions and peoples. It included the Alpine regions — the Tyrol, Austria and the Sudetenland-as well as
Bohemia, where the aristocracy was predominantly German-speaking. It also included the Italian-speaking
provinces of Lombardy and Venetia. In Hungary, half of the population spoke Magyar while the other half
spoke a variety of dialects. In Galicia, the aristocracy spoke Polish. Besides these three dominant groups,
there also lived within the boundaries of the empire, a mass of subject peasant peoples Bohemians and
Slovaks to the North, Slovenes in Carniola, Croats to the South, and Roumans to the East in Transylvania.
Such differences did not easily promote a sense of political unity. The only tie binding these diverse groups
together was a common allegiance to the emperor.

16-1. Which of the following statements correctly describes the divisions of Europe into kingdoms, duchies
and cantons?
16-2. Identify the regions ruled by the Habsburg Empire:
16-3. People under the Habsburg Empire did not see themselves as sharing a collective unity as they spoke
in different languages like
16-4. What was the only reason which binded the ethnically different people in Europe?
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17- The table gives an estimate of reserves of crude oil.

Region/Country Reserves (2017) | Number of Years (Thousand Million Barrels) | Reserves will last
Middle East 808 70

United States of America 50 10.5

World 1697 50.2

More important, it also tells us for how many years the stock of crude oil will last if people continue to
extract it at the present rate. The reserves would last only 50 years more. This is for the world as a whole.
However, different countries face different situations. Countries like India depend on importing oil from
abroad because they do not have enough stocks of their own. If prices of oil increase this becomes a burden
for everyone. There are countries like USA which have low reserves and hence want to secure oil through
military or economic power. The question of sustainability of development raises many fundamentally new
issues about the nature and process of development.

(17-1) why crude oil essential for the development process in a country? (2)

(17-2) India has to import crude oil. What problems do you anticipate for the country looking at the above
situation? (2)

ge-tw /SECTION-F(map based)-5 MARKS
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18-Two places A and B have been marked on the given outline map of India. Identify
them and write their correct names on the lines drawn near them.
A. The place where the Peasant Satyagraha took place.
B. Indian National congress session was held at this place in Sept. 1920.
18.b On the same outline map of India locate and label of the following with suitable symbols.
I.- The tallest dam in India.
ii- Alluvial Soils area in india

iii-Hirakund dam
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Note: The following guestion is for Visually Impaired Candidates only in lieu of
Question 18 (a).

A. Name the place where the Peasant Satyagraha took place
B. Name the place where the Indian National Congress session was held in Sept 1920.
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Note: The following question is for Visually Impaired Candidates only in lieu

of Q. No. 18 (b) Answer of the following.

i Name the tallest dam built in India.

ii-name the area of alluvial area in india

iii-Hirakund dam is located in which state
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